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HOME SCIENCE
PAPER - I1I

Note : This paper contains seventy five (75) objective type questions of two (2) marks each. All
questions are compulsory.

1.  Following is not a method of diet survey :
(1) Food frequency questionnaire (2) 24 hrs recall method
(3) Food weighment (4) BMI

2. Normal Blood Pressure is :

(1) SBP <120 mm Hg and DBP < 80 mm Hg
(2) SBP <120 mm Hg and DBP < 90 mm Hg
(3) SBP <80 mm Hg and DBP < 120 mm Hg
(4) SBP <130 mm Hg and DBP < 80 mm Hg

3.  The RDA of Zinc for 16-17 yrs old girl is :

(1) 12 mg/day (2) 11 mg/day (3) 8 mg/day (4) 10 mg/day
4. JIT is a :

(1) system of planning (2) type of management approach

(3) type of budget (4) type of performance appraisal
5. A is the smallest language unit that has meaning.

(1) Morphene (2) Phoneme (3) Syntax (4) Semantics
6. involves universal and irreversible changes due to genetic programming.

(1) Pragmatism (2) Secondary aging

(3) Imaginary audience (4) Senescence

7. Dye which does not have affinity for cotton fabrics ?

(1) Basic dye (2) Reactive dye (3) Sulphur dye (4) Vat dye
8.  The function of dispersing agent is :
(1) to allow formation of foam
(2) to increase the rate of dyeing
(3) to wet the fabric uniformly
(4) to prevent formation of mass
9.  The urge to possess and consume for display of wealth is called :
(1) Emulative consumption (2) Conspicuous consumption
Customary consumption (4) Competitive consumption
HII“||H||H|\|||| T z Fapeca
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qoa= - 111

fader: =3 yvs ® veEeR (75) Tg-fasmeda U9 ¥ | U U9 % Y (2) 31k § 1 Wt wv arfrard ¥

1.

frefafad eTeR wdarm w1 fafy & g
(1) GTa gee o it g & T9d (2) 24 ¥ STIER fafy
(3) @ TS S LA (4) SNTHSE.

T TR © -

(1) SBP <120 mm Hg 941 DBP < 80 mm Hg
(2) SBP <120 mm Hg 41 DBP < 90 mm Hg
(3) SBP < 80 mm Hg 941 DBP < 120 mm Hg
(4) SBP <130 mm Hg a1 DBP < 80 mm Hg

16-17 o9 3T1g et & fog fsfw &1 sRT 7 -

(1) 12 mg/day (2) 11 mg/day (3) 8 mg/day (4) 10 mg/day
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10. The educational and religions activities of families are part of :

(1) Household environment (2) Near environment

(3) Large environment (4) External environment
11. ‘NEEM’ stands for :

(1) National Extension Education Movement

(2) National Elementary Education Mission

(3) National Elementary Education Movement

(4) National Elementary Extension Mission
12.  Which of the following mediun would be ideal to attract the attention of children to sell

chocolate to them ?

(1) Radio (2) Newspaper (3)  Television (4) Leaflets
13. Egg has following role in food preparations :

(i) Stabilization of emulsion

(ii) As leavening agent

(iii) As thickening agent

(iv) Formation of foams

code :

(1) (@), (i) and (iii) (2) (i), (iii) and (iv)

(3) (), (iii) and (iv) (4) All of the above
14. The antinutritional factors present in foods of plant origin are :

(i)  Phytochemicals

(ii) Trypsin inhibitor

(iii) Tannins

(iv) Antioxidants

(v)  Phytates

code :

(1) (i), (iii) and (v) (2) (i), (iii) and (iv) (3) (i), (iv) and (v) (4) (i), (ii) and (iv)
15. Following are the diagnostic criteria for SAM in children <5 years :

(i)  Weight for Height - 3 SD

(i) Weight for Height -2 SD

(iii) MUAC less than 115 mm

(iv) MUAC less than 125 mm

code :

(1) (i) and (iv) (2) (i) and (iii) (3) (i) and (iv) (4) (i) and (iii)
g || [T : Faper 1




10. 9RER & iferw iR enfifer nfafafmal fFefafea § 9 feas fed § -
(1) =] AR 2) freheadt wR
(3) =AUE TR (4) 9 AR

11. 9 (NEEM) &1 acqd € :
(1) U faer foen stde
(2) T gt e faem
(3) U yrtHek fian SAiSrer
(4) T Tathe foer fem

12. 9= &l Aihele o= F T ST e sThfa A H frefafaa § @ SF-91 q1ey SugeEd e ?
1) e (2) HHER YA (3) <etfersH (4) T

13. oI5 s H 210 e ypfirenr 7
(i)  THM Wi feerta
(i) THIRERI g
(i) TSN A hT qTY
(iv) "N
e :
1) (i), (ii) 3R (i) (2) (i), (iii) R (iv)
B) (i), (iii) 3R (iv) (4) ST a«
14. ITodISt edere H gid-dives ek Bd €
() EHSIHRHIERA
(i) feo s=ieftex
(iii) A
(
(

iv) TreTlaEe
) FELEH
%<
1) (i), (i) R (v) (2) (i), (i) IR @(v) (3) (i), (v) R (v) 4) (@), (i) IR (iv)
15. <598 & o=l § TH.CUH. & qel—h R fefafed €|
() S * faw o= - 3 TEE.
(i) SR % faT asE -2 TEE
(i) TEATH. 115 f0H | w0
(iv) TRATH. 1250 ¥ %4
< :
(1) (if) 3R (iv) (2) (i) ¥R (i) (3) (i) ¥R (iv) (4)  (if) 3R (i)
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16. Following are functions of Vitamin A :
i)  Vision
ii) Co-enzyme

iv) DNA Synthesis
v) Maintenance of differentiated epithelia

(
(
(iii) Immune Response
(
(
(1) (), (i) and (v) (2) (i), (ii) and (iii) (3) (i), (iv) and (v) (4) (i), (iv) and (v)
17. The following are the methods of nutritional assessment using anthropometry.
i)  Skin fold thickness
ii) 24 hrs dietary recall

iv) Blood Pressure

(
(
(iii) Mid Upper Arm Circumference
(
(v)  Waist Hip Ratio

1) (), (i) and (i) (2) (), (i) and (v) (3) (i), (iii) and v) (4) (i), (iii) and (v)

18. Performance appraisal can be done using these tools :

(i) Paired comparison

(i) PERT

(i) Ranking

(iv) Job specification

(v)  Critical method

(vi) Forced distribution

code

(1) (@), (ii), (v) and (vi) (2) (), (i), (vi) and (v)
(3) (i), (iii), (vi) and (i) (4) (ii), (v), (vi) and (iv)

19. Identity statuses given by Marcia include :

(i)  Ego integrity

(ii) Identity achievement

(iii) Moratorium

(iv) Identity crisis

(v) Identity foreclosure

(vi) Identity diffusion

code

(1) (i), (i), (v) and (vi) (2) (i), (i), (iii) and (iv)

ii), (iii), (iv) and (v) (4) (i), (iv), (v) and (vi)

() ()
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18.

19.

paai |H||H|H||

frfafea faerfm ‘T’ & = 81
i 3f=

(i) He-T=EH

(iti) Wfersh giafsean

(iv)
v)
%<
1)

LA TS
ufgefifersn & fadfawwor = 93 W@
(i), (i) 3 (v)

(2) (), (i) 3R (i)

frefafeaa Amafadr g &) i ot fadh 2

() O TG HI AR

(i) 24 ¥ TIER fafy

(i) A FUY R 1 GRHY

(iv) Y=g

(v) HE I 9Rfy

< :

1) (), (i) @ GiH)  (2) (i), (iid) AT (iv)

(3) (i), (iv) 3R (v) (4) (i), (iv) &R (v)

(3) (i), (iii) 9AT (v) (4) (i), (iii) TAT (V)

frefafed SUshiol 511 qodish STATsd i ST Hehell © :

(i) S g
(i) g

(iil) S USEY

(iv) e faf=

(v) HHes fofy

(vi) Yaa faaeo

< :

(1) (), (i), (v) 3R (vi) 2)
(3) (i), (i), (vi) 3R (i) (4)

ARFE 5N fE3 T veEH W i ®
() T AU

(i) TEH SUCTSH

(i) ARSIREH

(iv) TeIH 55

(v) UREN QUETYd S

(vi) YgaH faae

< :
(1)

m)

(ii), (111

(i), (i), (vi) 3 (v)
(ii), (v), (vi) 3R (iv)

) (i), (i), (iii) 3TR (iv)
(4) (i), (iv), (v) 3R (vi)
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20. Methods to increase effectiveness of punishment :
(i)  Raise severity of punishment
(i) Explanations given
(iii) Warm parent-child relationship
(iv) Add corporal punishment
(v)  Consistency
code :

1) (), (i) and (iv) (2) (i), (iv) and (v) (3) (i), (i) and (v) (4) (i), (iii) and (iv)

21. Components of the “Big Five” personality traits are :
(i) Neuroticism
(ii) Extroversion
(iii) Assertiveness
(iv) Shyness
(v) Agreeableness
code :
(1) (), (iii) and (v) (2) (), (iv) and (iii) (3) (i), (ii) and (v) (4) (ii), (iii) and (iv)

22.  Which of the following machine bed types are used for sewing small curved awkward shapes
as in footwear ?

(i)  Flat bed

(i) Cylindrical

(iii) Post bed

(iv) Feed off the arm
code :

(1) (i) and (ii) (2) (i) and (i) 3) (i) and (iv)  (4) (iv)and (i)

23.  Which of the following embroidery stitches produce embossed effect in Chikankari ?
(i) Murri
(i) Phanda
(iii) Taipichi
(iv) Bukhia
code :

1 (
s ]

i) and (iii) (2) () and (ii) (3) (iii) and (iv) (4) (i) and (iii)

@
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20. TT HI AfH FUTERIA T Hi AT €
() TUS H

(ii) SO I

(ili) SAATEHR-TAFR H Te-J01 Ty

(

(

~"

iv) IR U &l A FHE
v) ThEUd
e :
(1) @), ()M Gv) () (i) (v) IR (v) @) (), (i) FR) @) () (i) N (iv)
21. Afada & Ion & fo-wEe’ 7@ €
) e
i) TRGEsH
i) THfEaH
iv) rteme
v) TR
e :
M) @) i) FRv) () @), Gv) IRGE @) @), () I () @) () (i) AR (v)

22, Sd/99A § BRI AR 9 Sfed AR+l e & fau frefafad § § #6-8 9 gt 79ib
SYINT T S B 2
() TR
(i) focvei=ma
(i) TR TS
(iv) IS 3® T o1
e :
(1) () 3 (i) (2) (i) 3 (i) () @) GE) @) () Q)

i
i
i

(
(
(
(
(

23. faswTert # frAfafed #eE & 2 § 9 I 3Tl UNE HhiH-Y ek 3cdel il © 2
0 T
(i) ®=T
CHRIEE
(iv) gt
e :
1) (i) 3R (i) 2) (i) 3R (ii) (3)  (iii) 3R (iv) (4) (i) 3R (i)
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24. Recent environment friendly methods in dyeing and printing include :

(i) Digital Printing

(i) Waterless dyeing

(iii) Plasma technology

(iv) Flat bed screen printing

code :

(1) (), (i) and (iv) (2) (i), (iii) and (iv) (3) (i), (ii) and (iii) (4) (ii), (iii) and (iv)
25. An economic decision in the family deals with :

(i)  Multiple goals

(i) Single goal

(iii) Multiple values

(iv) Scarce resources

code :

(1) (i) and (ii) (2) (i) and (iv) (3) () and (iv) (4) (i) and (iv)
26. Requirements of good seating are to :

(i) Provide trunk stabilization

(i) Have proper elbow height

(iii) Permit change of posture

(iv) Avoid pressing of thigh tissues

code :

(1) (@), (i) and (i) (2) (@), (i) and @iv) (3) (i), (iii) and (iv) (4) only (i) and (iv)
27. The basic movements of the body in terms of functioning of the muscles are :

(i) Flexion

(i) Abduction

(iii) Pronation

(iv) Extension

(v) Adduction

code :

(1) (i) and (iii) (2) (iii) and (iv) (3) (iv) and (v) (4) (i) and (iv)
28. Who is an Entrepreneur ?

(i) Someone who invests time and money to starts a business.

(i) Someone who takes risk to make profit.

(iii) Someone who travels extensively.

(iv) Someone who makes a lot of money.

code :

(1) (@) and (ii) (2) (i), (iii) and, (iv) (3) (v), (i) and (ii) (4) (iii) and (iv)
| 10 Faper-




24, T AR BUE & TG STIHRA TS Rl H €

() fefsea s

(i) T O % W T O

(ili) AT ST

(iv) TR 9 BhH B

< :

1) (@), ()R @v) (2 (@), @) IR av)  3) (), () IR () (4) (i), (iii) 3R (iv)
25. UfER & enfefe fofa frefafaa & @ feed efaa © -

() Tfafay @&

(i) THA AL

(i) fofay Ar=rarg

(iv) TAY FEEA

< :

(1) () () 2 (@@v) @) @) (v) (4) (i) 3R (iv)
26. ST F T TN HI TEvHAel § ffafad # § -9 ST ©

() Egfaa (feer) & oM LT

(i) e feh™ q% ST AT

(iti) HET IS I STLAC

(iv) TS % Skl % gaTe § o=l

< :

1) (@), () 3G (2) (@), (i) IR (@Gv)  (3) (i), (i) R (iv) (4) FHEA (i) 3R (iv)
27. HIGURE % wRE & e § qowy ¥ WK & fea-gan feafates § 9 w872

() I

(i) TeERM

(i) IHEH

(iv) TFIERH

(v) TERM

%< :

(1) (i) 3R (iii) 2) (i) 3R (iv) (B)  (iv) R (v) 4) (i) ¥R (iv)
28. T=U=R (3TH) ®H T2

() % AfH S AR Y& F & faw w2 AR o7 a1 a9 w3t 2

(i) o AR S AT AfSd F & fag s 32 2|
(ili) 9E A S Fad AT HLA B |

(iv) 9% SAf 51 TAfF &9 FHUTT 8l |

{d‘ :
(1) ( ) (
s [ EARUIAN

i) R (ii

2)  (id), (ili) ¥R (iv) (3) (i), (i) AR (G) (4)  (iid) 3R (iv)

p—

1 Paper-III



29. Non formal Education Processes and Programmes should, in the long run, lead to :
(i) Creating awareness among individuals and Society.
(i) Enriching human potential.
(iii) increasing functional relevance of learning.
(iv) increasing the autocratic action.
code :

(1) (iv), () and (i) (2) (), (i) and (i) (3) (i), (iii) and (iv) (4) (i), (iii) and (iv)

30. Development Communication is :
(i)  Resource for Development
(ii) Precursor for Social Change
(iii) An approach for charity
(iv) A component of Press Information Bureau

code :
(1) (i), (ii) and (iv) (2) (@), (i) and (i) (3) (@) and (ii) (4) (iv), (i) and (iii)
31. Assertion (A) : Aging is associated with loss of lean body mass, bone mass and total body
calcium
Reason (R) : High fat and low protein diets are recommended for elderly.

code :

(1) (A) is correct and (R) is incorrect
(2) (R) is correct and (A) is incorrect
(3) Both (A) and (R) are correct

(4) Both (A) and (R) are incorrect

32. Assertion (A) : Including 4 to 5 exchanges of fruit and vegetables in the daily diet provides
protection from non-communicable diseases.
Reason (R) : Fruits and vegetables are rich in phytochemicals which help to reduce
oxidative stress of cells.
code :
(1) Both (A) and (R) are incorrect
(2) Both (A) and (R) are correct
(3)  (A) is correct, but (R) is incorrect
(4) (A) is incorrect, but (R) is correct

33. Assertion (A) : Adequate non-protein energy from carbohydrate and fat is essential for

efficient utilisation of dietary amino acids.

Reason (R) : Dietary proteins provide amino acids for synthesis of body proteins, enzymes
and some harmones.

code :

(1) (R) is correct and (A) is incorrect

(2) Both (A) and (R) are correct and (R) is correct explanation of (A)

(3)  (A) is correct and (R) is incorrect

(4) Both (A) and (R) are incorrect

g |
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29.

30.

31.

32.

33.

paai |H||H|H||H||H||H||||\|H|\||\||H|H|H||\||\|||\|H||

TR efroenfier foren gfshan iR w1dsa i < § frefafaa § | s S =nfeu ?

() A IR U H SmTEswd T T |

(ii) I &HAT I THG HA

(il) STFATH (AM) FT FETHE THRTRAT F TG |

(iv) S=BER & &l g |

< :

(1) (@v), () MG () @) @) RG) (@) ), @) AR (@) @) () (i) N (v)

fehTa HaR 1 ared € :

() fawm = fau gaem

(i) G dSaTE % TS

(ili) e & forw IUrTH

(iv) T I wEd (99 TRHEIE SA) 1 Teh H0h

(1) (i), () @) () @) @) MR G @) () R (i) (4)  (iv), (i) 3R (iii)

APURAT (A) :  TeIul TIF SISt T, SF A IR e diet Hicaam i wH & Fefed 7|
HROT(R) :  JAIS ANl o foru = 9@ iR e7e9 W aTe 3TeR o &1 9aTg <f Sl ¢

e :

1) (A) ¥ 3R (R) Te@ B | (2) (R) 5& T 3R (A) 7Ted B |

(3) (A) 3R (R) S T ) 4) (A) 3R (R) T TTera T

AfRa (A) . T SRR | 4-5 Wil iR wfew@ll &l el w1 R-Hehtaer M & TR YSH

FHIA T |
HRUT(R) : ol AR Gfesal § wreerhiehed Tg 7 § Sl § S wifvrehiet & e
T HI FHH FHH | AGE HLT ¢ |

%<

1) (A) 3R (R) ST Terd 2) (A) R (R) S Wt T |

(3) (A) W& T fohg (R) T T | 4) (A) 74 ? fog (R) W& 2

ATUFRAT (A) :  FETEES R T F e Gt TR-TEH Shott SRR H forw T4 3T 310t o Herd
I % foru smavas ®

HNUT(R) 3MER Faef WM IR & W, T<MEH 3R $ Al & G & faw s
3T TS Al ¢ |

e :

(1) (R) 9& T 3R (A) 7Ted B |
2) (A) 3R (R) I & € IR (R), (A) FT1 TEl T=HTT T
(3) (A) & g 3R (R) T €|

(A) 3R (R) IHI Terd 2
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34. Assertion (A) : Commissary service has a large centralised production unit with satellite
units located separately where food is finally prepared and served.
Reason (R) : This type of system uses frozen and chilled food, does large volume purchase,
has large labour force and equipment and minimal transport.
code :
(1) (A) is partially correct and (R) is correct
(2) Both (A) and (R) are correct
(3)  (A) is correct and (R) is partially correct
(4) Both (A) and (R) are incorrect
35. Assertion (A) : Managerial skill is classified in terms of three skill approach.
Reason (R) : The skills needed in a manager are human skills, conceptual skills and
marketing skills.
code :
(1) Both (A) and (R) are incorrect
(2) Both (A) and (R) are correct
(3) (A) is correct but (R) is incorrect
(4)  (A) is incorrect but (R) is correct
36. Assertion (A) : Developmental anthropologist Shweder concluded that a separate middle
age is a cultural construction.
Reason (R) : In some cultures women view their life course not by chronological age but
by the nature of one’s social responsibility and family management.
code :
(1) Both (A) and (R) are incorrect
(2) Both (A) and (R) are correct and (R) is the appropriate explanation of (A)
(3)  (A) is correct but (R) is not the appropriate explanation of (A)
(4)  (A) is incorrect but (R) is correct
37. Assertion (A) : The objective of the amendment of the Child Labour Act is to ensure that
all children between six to fourteen years are in schools
Reason (R) : Under RTE Act it is the duty of the State to ensure free and compulsory
education to all children below the age of 18 years.
code :
(1) Both (A) and (R) are incorrect
(2) Both (A) and (R) are correct
(3) (A) is correct but (R) is incorrect
(4) (A) is incorrect but (R) is correct
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34.

35.

36.

37.

ATURAT (A) :  THS AT H T S Fralhd SIS SHTE 2l & FTTh T STIE SHhTEaA JUh &Y
Y feorg 2t € el @ verd 3ifan 9 9 49 foru S € o W S §

HROT(R) : 39 TE H Yocl! | 9TH gL IR 32 @re el &1 3w fohern < €, oSt A o
G T S ¢, TS G § HRad SR SURL T B § a1 =F[AaH TReR qe
Her™ Bd ¥ |

< :

(1) (A) 3Terd: | a1 (R) 9L 7

(2) T (A) T (R) T R

(3) (A) W&l q (R) ¥ TE €|

(4) <HT(A) SR (R) Tod B

AR (A) . 9 v Tgfaal & dedf H yeushig wre aiifed ear ¥ |

HRUT(R) :  (FE yoys o gdg i, 99 see IR faaum $iva S s @
STITIHaT Bl |

%<

(1) (A) 3R (R) IHI 7Tera T |
2) (A) R (R) A T
(3) (A) W& % fohg (R) TeTd T |
(4) (A) 7 € fog (R) W& T

fered (A) ;. fasmcHs AMa faart vereX 7 feht et foh AeAmaen U o7 & |t
e

HRUT(R) : TS GER(aAl § ARG TU1 aRdfaes Mg % STER Siaq-mafy 1 &l Sadt
] ST WS ISR e WETeh et i Yahfd & STHR T S@dl § |

%<

(1) (A) T (R) ST T €

2) (A) 3R (R) T W&t € 9 (R), (A) 1 3Fod Tt €

(3) (A)WH & T (R), (A) F1 Sfora iR 7 7

(4) (A)Terd € T (R) Wl B

AR (A) . e 99 AT TEieE #1 S2YF I8 GAvEd w0 © TF 6 - 14 99 31y F @t
STcTeh] %1 Thel § ATHIH B |

HROT (R) 323, erfufem & dead og ghfved & T %1 e € fw 18 9 & =
gt arerehl 1 Fgew T& sifar foren gem %t S

%<

1) (A) TS (R) IHI Terd B |

2) (A)TE (R) I H& 2|

(3) (A) TE & TG (R) TTerd |
(A) TTEd § 9% (R) HE R |
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38. Assertion (A) : Foaming is always undesirable in dyeing.
Reason (R) : itleads to uneven dyeing and excessive foam leads to overflow of dye solution
and loss of dye.
code :
(1) Both (A) and (R) are correct
(2) Both (A) and (R) are incorrect
(3)  (A) is correct, but (R) is incorrect
(4)  (A) is incorrect, but (R) is correct
39. Assertion (A) : Cross dyeing can produce multicoloured fabrics.
Reason (R) : Two or more fibre types in a fabric accept a different types of dye.
code :
(1) (A) is correct but (R) is incorrect
(2)  (A) is incorrect but (R) is correct
(3) Both (A) and (R) are incorrect
(4) Both (A) and (R) are correct
40. Assertion (A) : Pattern engineering increases the efficiency of a marker.
Reason (R) : Pattern engineering involves splitting pattern pieces, reducing seam
allowances and adjusting pattern dimensions.
code
(1) Both (A) and (R) are incorrect
(2)  (A) is correct but (R) is incorrect
(3) Both (A) and (R) are correct and (R) is also the correct explanation of (A)
(4) (A) is incorrect but (R) is correct
41. Assertion (A) : The man-machine system (MMS) is most effective when input and output
are appropriately balanced.
Reasoning (R) : The man-machine system consists of only man and machine.
code :
(1) (A) is correct and (R) is incorrect
(2) (A) is incorrect and (R) is correct
(3) Both (A) and (R) are correct
(4) Both (A) and (R) are incorrect
|
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38.

39.

40.

41.

paai |H||H|H||H||H||H||||\IH|\||\IIHI“IHINIHII\IHII!

AR (A) : TS o I3 AT THIN TS el 2ral |

HROT(R) : 399 TTE /A il © 9 s S & RO T &1 id SEAAT § SR T H
THYH BT R |

e :

(1) = (A) 3R (R) TE 1

(2) <F(A) SR (R) T ¥

(3) (A) FEl g A (R) Tod € |

(4) (A) 7T &, &fRT (R) 9L T

ARMRIT (A) :  FiF TNE F T o FUS 39 & Wh |

HRUT(R) : TH FHIS H 31 1 1foeh TR & ag fafer= FR & 1 o1 €1
e :

1) (A) @ g afed (R) Terd T

2) (A)Ted B fRA (R) §&t €

(3) <HI (A) 3R (R) T

(4) <HI(A) R (R) &t 1

AfueReT (A) . Yo sffrafin orér =t s/ Fererar sewdt §1
HRUT(R) Ui sfafmafi § Tedg & e &1, Hied TSR &l &7 ST g T & 7am
1 STIFA FH WA B L |

e :

(1) S (A) 3R (R) Tefd €

2) (A) T ? AfFA (R) Terd T

(3) <THI (A) 3R (R) W&l € 3R (R), (A) FT F&t F0i oft T
(4) (A) @A € AfeRd (R) T R

AFIRYT (A) : I TTYE IR A=Y THI 3Fad €9 | Fferd € af HIG T Jomed! (TH.UH.TH. )
ITcafess gt 21

HROT(R) :  HES T Joell (TA.UA.TH.) B shael AHd IR A3+ wfia g1
e :
(1) (A) ¥ § &R (R) 7Te@ B
2) (A) 7 § AR (R) §&I |
(3) (A) 3R (R) ST 2T |
(A) 3R (R) T 7Ted €
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42. Assertion (A) : Time and energy demands of employed women are same in different stages
of family life cycle.

Reasoning (R) : Energy management is more difficult and complex than time management
irrespective of stages of family life cycle.

code :

(1) (A) is correct (R) is incorrect

(2) Both (A) and (R) are correct

(3) (A) is incorrect and (R) is correct

(4) Both (A) and (R) are incorrect

43. Assertion (A) : Systemic Evaluation enables to determine the effectiveness of any
programme.

Reason (R) : Information obtained through evaluation shows strengths and weaknesses
of a programme.

code :

(1) Both (A) and (R) are correct

(2) Both (A) and (R) are incorrect

(3)  (A) is correct and (R) is incorrect

(4) (R) is correct and (A) is incorrect

44. Assertion (A) : The potential of women to participate in development is limited by the
opportunities and exposure available to them.

Reason (R) : Scholars have repeatedly suggested that everyone is born into a culture
that has pre-set notions about males and females and what is appropriate
for males and females.

code :

(1) (R) is correct and (A) is incorrect

(2)  (A) is correct and (R) is incorrect

(3) Both (A) and (R) are correct

(4) Both (A) and (R) are incorrect

45. Assertion (A) : SSA is a programme for promoting self employment.

Reason (R) : Self employment approach to poverty alleviation is more sustainable than
wage employment.

code :

(1) Both (A) and (R) are correct

(2) Both (A) and (R) are incorrect

(3)  (A) is correct and (R) is incorrect

(4) (A) is incorrect and (R) is correct

N 1111 T



42.

43.

44.

45.

vns [QITHAUR R

AURAT (A) :  FHTTHTt Ufgensti & Tua iR et 6t 7 fafi= wienfie Stem =% o & @@
H T

HRUT(R) OIS St =k i faeensti W & fou fom1 w9 gaad &1 qar § S
Teiu 3fcafus HigT iR wfeat 7

%<

1) (A) ¥ T 3R (R) T ¢
2) (A) 3R (R) TH TE |
(3) (A)7TTd § AR (R) §&l |
4) (A) 3R (R) IH Tord T |

AfeRe (A) :  afed qedish fordt wri®a & gefaar &1 faier w0 & wmed o= €1
HROT(R) : A o AW ¥ U a1 § Fel Hrfhd & 707 - <Y &1 qa1 =erdt €|
< :

1) (A) 3R (R) I Wl 2|

2) (A) 3R (R) SH T §1

() (A) T T IR (R) TG T

(4) (R) W& AR (A) T R

AR (A) :  Tfeeel 1 STas TIER IR TauSR ¥ faem & 9rfierdt & fau st e
Hifga ® 1

®NOT(R) : f9gMI 1 91 - IR 98 gI@ o § fF oo =afem us Ut 9ehfa § 5 o1 @
food 2y 91 St & 9N § g 9 g U ¥Ron S gt § o e R St & fou
1 Sfa B

< :

(1) (R)¥& T R (A) Te@ B
2) (A)E& T 3R (R) T |
(3) (A) 3R (R) T T 1
(4) (A) 3R (R) IHI Teord T

USRI (A) . T 1eT AR RIS 1 9gH & o Femn T &Ewd T
HRUT(R)  :  TRIsT S & U @RISR, SaH- A ASHIR As1sii | SomeT aRoie €
%<

1) (A) 3R (R) S T

2) (A) 3R (R) THI e ¥ |
(3) (A) W § R (R) Te@ B
(4) (A) Terd © 3R (R) ¥ 1
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46.

47.

48.

49.

Arrange in the correct sequence the changes occuring in decomposition of fat on heating :
(i) Heating of fat

(if) Pyrolysis of chain

(iii) Formation of short chain fatty acids

(iv) Hydrolysis to fatty acids and glycerol

(v) Rancid flavour

code

(1) (@), (i), (iv),(v) and (iii) (2) (), (iv), (v), (@) and (iii)
(3) (@), Gv), (v), (iv) and (iii) 4) (@), [dv), (i), (iii) and (v)

Arrange in correct sequence the symptoms of liver disease according to severity :
i)  Hepatic Encephalopathy
if) Jaundice

(
(
(iii) Gastro Intestinal Disturbances such as nausea and vomiting
(iv) Oesophageal varices

(

v) Oedema and Ascites

code :
(1) (), (i), (iii), (iv) and (v) (2) (i), (ii), (v), (i) and (iv)
(3) (), (iii), (ii), (iv) and (v) (4) (i), (ii), (v), (iv) and (i)

Arrange in correct sequence the pathways of carbohydrate metabolism :
i)  Glucose 1 - phosphate
ii)  Glucose 6 - phosphate

(

(

(iii) Glycogen
(iv) Fructose 1, 6 Biphosphate
(

v) Pyruvate

code
(1) (), (ii), (iii), (iv) and (v) (2)  (iii), (i), (ii), (iv) and (V)
(3)  (iii), (iv), (i), (ii) and (V) (4) (iv), (iii), (ii), (i) and (V)

Arrange the steps in correct sequence of data analysis process for monitoring and evaluation
of Public Nutrition problem :

(i) Identify pattern, trends and possible interpretations

(ii) Collect information around the indicators

(iii) Determine key indicator for the evaluation and monitoring process

(iv) Develop a structure for analysis

(v)  Use of SWOT technique for interpretation of data and drawing conclusions

code :
(1) (i), (i), (iv), (i) and (v) (2)  (©), (), (i), (iv) and (v)
(3) (i), (ii), (i), (iv) and (v) 4) (@), (i), (ii), (iv) and (v)
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46. =9 TH H X forere § B o1l aferde i W8l shH H sy
() o ®I TRH KT
(i) = IR
(iii) R =1 % oA T
(iv) T Teed ¥ el o oiR fraedia

(v) e T

e :

(1) @), (i), (iv), (v) 3 (i) (2) (i), (iv), (v), (i) 3R (i)

(3) (), @v), (v), (iv) 3T (i) 4) ), @v), (i), (i) R (v)
47. IFd faeR F TR (afTsar) & STaR A & 9e w9 H T |

() fedfew Trarief

(i) difern

(iii) TR - AfaSr Heet Teae F fomedt 3R a9=

(iv) g@%ﬁlﬂ?aﬁﬁ'ﬂ

(v) Tfem &R TEEed

W‘:

(1) @), @), (i), (iv) #R (v) (2) (i), (i), (v), (i) 3R (iv)

(3) (), (i), (i), (iv) #R (v) (4) (i), (i), (v), (iv) &R (i)

48. FEEESS AT i H1d Yomell &l T&l A | fafay :

(i) TIRIS 1 - HIFRS

(i) TIRIS 6 - HIFHS
(ili) TSRS
(iv) RN 1, 6 - 918 HiThe
(v) TEEeE
e :
1) @), @), (i), (iv) #R (v) (2) (i), @), (i), (iv) FR (v)
(3) (i), (iv), (i), (ii) &R (v) @) (i), (i), (i), (i) HAR(v)
49. S 99U G & FRE SR qeaiad % faw e (sfwren) faversm i &g 33T S aTe Al
& el FH § Hafked &1
() T (T, THed SR o TR0 i UgEH &Il
(ii) HhdRI % AH - IE Y GIRY
(ili) FeAwT TR FIRE gfhan g 4= ohas &1 FuRy
(iv) faecwor g &y fashfyd e
(v) SThEl o TSI SR W@ fTohtl ¥ Wie (TH. S0y, 3.31.) Tehieh 1 STANT
{d‘:
(1) (i), (i), (iv), @) FR(v) 2) (), (i), (i), (iv) R (v)
(3) (i), (i), (i), (iv) &R (v) @) (), (i), (i), (iv) #R (v)

s [[{THIAR
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50. Give the right sequence for establishing HACCP :

(i)  Establish critical points.

(ii) Establish the correct action.

(iii) Identify the critical control point.

(iv) Establish effective record keeping.

(v) Identify hazard and assess the severity and risk.

(vi) Establish procedure to verify that system.

(vii) Establish procedure to monitor CCP.

code :

) () (i), (v), (i), (), (@), (i) @) (@), (i), (), @), (i), (vi), (v)

(B) (), (i), @), (vid), (i), (v), (V) (4) (V) (vi), (iv), GiD), (iid), (3), (vid)
51. Arrange the following principles of Observational Learning according to Bandura in correct

sequence :

(i) Motivational Processes

(i) Attentional Processes

(iii) Production Processes

(iv) Retention Processes

code :

1) @) @), (iv), (i) (2) (i), (iv), (i), ()

(3) (@) (), (i), (iv) (4) (i), (), (i), (iv)
52. Arrange in order of rehabilitation process for a destitute child :

(i) SARA gives ‘No objection” for Inter-country adoption.

(i) Effort by SAA to locate Indian parents.

(iii) Child found abandoned.

(iv) Child declared destitute and legally free for adoption.

(v)  Enquiry undertaken by CWC.

code :

(1) (i), (v), @), (i), (v) (@) (i), (v), (v), ), (i)

(3) (i), (v), (v), (i), () (4) (i), (v), (v), (i), 6)
53. The correct sequence of Piaget’'s Sensori-motor substages are :

(i)  Reflexive Schemes

(ii) Primary Circular Reactions

(iii) Coordination of Secondary Circular Reactions

(iv) Mental Representation

(v) Secondary Circular Reactions

(vi) Tertiary Circular Reactions

code :

(1) (), (IV) (11) (V) (i), (vi) (2) (), (i), (i), @v), (v), (Vi)

(), (i), (iii), (iv), (v), (vi) ) @) @), (v), (i), (vi), (iv)
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50. TA.UHLEL . faRo #3 3g 9E wH 9

() He&u fagad w1 fuko

(i) G R w HERm

(iii) qe&w Trimo formgati 1 var o

(iv) gl e e &1 fgRo

(v) @ 1 9gaM iR TR aen Sifed 1 At

(vi) T & S & fag gfsran &1 fHgro

(vii) HELR. 1 R 2g gfsean w1 freio

< :

1) (@), (i), (iv), (vi), (v), (i), (vii) (2) (), (vi), (iv), (i), (i), (vii), (v)

B)  (v), (i), (i), (vii), (i), (iv), (vi) (4)  (v), (vi), (iv), (id), (iii), (i), (vii)
51. QU % FIHR STaclied A & 7 fagral 1 v § @

()  SHMCHS Fishad

(ii) EAFTHE GfRa

(iti) 3caeH TfshaT

(iv) STIYRUHS Ffhar

%<

1) (@), (i), (iv), (i) (2) (@), (iv), (iii), (i)

@) (@), (i), (i), (iv) (4) (i), (@), (i), (iv)
52. frufya amerhl i qHema gfsran w1 swAER fafe :

() THTART T<R- <% vl % fer * faamoiia =2’ 61 ymmr o= 31 7

(i) THLT GRI YR SAYHTER] i TATT T TI4 |

(ili)  STeTeh TR 9T T & |

(iv) drere FfEd T <ae TR0 % foru St dR R W[ S |

(v) H e ©t g ®T A S|

< :

(1) (i), (v), (@), (i), (iv) (2) (i), (v), (iv), (i), (ii)

(3) (i), (iv), (v), (ii), (i) (4) (i), (v), (iv), (i), (i)
53. TS &I FAMEA - TARHS IU-STTEAST HT Tel A ¢ :

() fwifera =

(i) WS TR Wfafwarnd

(i) Hh= TR gfafswansti =1 aeHa

(iv) SIS EENE

(v) el TR gfafwand

(vi) TR R gfdfswmand

< :

(1) (1) (iv), (11) (V) (iii), (vi) (2) (@), (i), (i), (v), (v), (vi)

i), (i), (iii), (iv), (v), (vi) 4) (), (i), (v), (iii), (vi), (iv)

s NNV 2

Paper-III



54.

55.

56.

@) (
s ]

Give the correct sequence of garment manufacture :
(i) Pattern Making

ii) Marker Making

iii) Spreading

(
(
(iv) Grading
(v) Bundling
(

vi) Cutting

code
@M @), @), (), (v), (i), (vi) (2) (), (iv), (i), (i), (vi), (v)
@) (@), @v), (), (i), (vi), (v) 4)  (v), (i), (iD), (v), (iid), (vi)

Give the correct sequence for producing Kalamkari of Masulipatnam :

(i) Dyeing with red dyes

(i) Dipping in blue indigo dye bath

(iii) Developing yellow and green with kalam
(iv) Dunging and Mordanting

(v)  Wax resist on whole fabric except desired blue and green areas

(vi) Drawing with kalam using other mordants over traced design outlines

code :
1) (vi), (1), (v), (i), (iv), (i) 2) (@), (i), (v), (iD), (@v), (vi)
B) ), @), (i), (vi), (i), (v) (@) (), i), @), (v), (i), (i)

Arrange in sequence the steps involved in the planing process of management :

(i) Formulating possible course of action
if)  Setting priorities

iii) Obtaining relevant information

(
(
(iv) Organizing
(v)  Recognition of the fact that a problem exists
(

vi) Selecting the best course

code :

1) @), (), (i), (v), (vi), (v) (2)  (v), (i), (i), @{v), (i), (vi)
v), (iii), (i), (i), (vi), (iv) 4)  (v), (iD), (iv), (iii), (i), (vi)
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54.

55.

56.

@) |
s ]

® @), @v), (i), (v), (i), (vi) (2) (i), @), (@), (i), (vi), (v)
() (@), @{v), (i), (i), (vi), (v) @) (), (), (i), (@), (i), (vi)

HHATISTH i HeTHHR] oM 61 Fal A ST |

() e T T
(i) el 3 1 % e H gar
(iii) oA ¥ e TR 30 1 A A H

(iv) SR IR HRef=
(v) e 3R &R &l o erfafiad OR 98 W O Aush I
(vi) B g fesmed =t amed W@sll W wad g 3T ARe=H THl

e :
1) (vi), (i), (v), (i), (iv), (@) (2) @), (i), (v), (i), (iv), (vi)
@) ), @) (i), (vi), (i), (iv) @ (), vi), @), (v), (i), (iii)

SITATI ki AT Gishar H I =01 i wHar faf@y .
() @ % GHG FHH N LR

(ii)  WTATHSRT TR HTT

(i) fove AT Gred h Tl

(iv) GHaEd S

(v) 99 & SR ®i qgan ST

(vi) HaIdH H 1 =9I R

e :

D) (), @), (i), (), (vi), (v) (2)  (v), (i), (@), (v), (i), (vi)
v), (iii), (i), (ii), (vi), (iv) @) (v), (i), (iv), (i), (i), (vi)
AR 2

Paper-III



57. Arrange the steps in the recommended sequence for designing an equipment based on
anthropometric considerations :
(i) Determine the principle applicable for the design of equipment
(ii) Determine the body dimensions important in the design
(iii) Define the population likely to use the equipment
(iv) Add allowances, if necessary for special cases
(v) Decide the percentage of population to be accommodated
(vi) Extract relevant values of the body dimensions from the anthropometric tables
appropriate for the population
code :
W) () G, (i), (@), (v), (vi) () (i), (i), @), (v), (vi), (iv)
(B) (i), () (i), (v), (vi), (iv) (4) (i), (i), @), (vi), (iv), (v)
58. Arrange the sequence in preparing a pathway chart :
(i) Mark movement of worker with pin and thread
(if) Calculate distance travelled in different pathways
(iii) Draw floor plan of work area
(iv) Determine the simplest and shortest route
(v)  Mark line of motion using thread
(vi) Measure the length of thread
code :
(1) (), (), (), (i), (vi), (v) @) (), (i), (v), G@v), (i), (vi)
(3) (), (vi), (i), (i), @), (v) () (i), (v), @), (vi), (i), (i)
59. Arrange the steps in developing a plan of work for extension programme in ascending order:
(i)  Select problems for intensive actions
(ii) Prepare action programme
(iii) Prepare a summary of the current situation
(iv) Provide for evaluation
(v) Designate local leaders
code
M) () G (i), (@), v) @) (i), () (i), (), (v)
(B) (i), @), (i), (v), (iv) (4) (i), @), (v), (i), (v)
s | NI 2 —




57.

58.

59.

paai |H||H|H||

TS faaror 92 enenid SUvl o FeaIeA & 9 § 9diy, T4 FheHi ol 3fad Y | Harked &1

(1)
(i)

3URT o TesiEa & farw o] @ ot fagial 1 frefo
fesea o meerqul siel ega= w1 ey

(iti) STRTOT T ITANT HIA STl STTHEAT hl TRTIT FHTAT|
(iv) afc fodm Ae & fore staves € @ v e 3|
(v) wfHe sl S et SEen o gfaerd 1 o |
(vi) STEEN % fau IugE TYMme 9reft § et SRR o YT ol w1 4R |
%<
™) @), (), (i), (), (v), (vi) (2) (@), (i), (@), (v), (vi), (iv)
®) (), (i), (i), (v), (vi), (iv) (4) (i), (i), (@), (vi), (iv), (v)
T TR IR id THY hH AT B
() o SR um | HHR T A S
() fafs= gl § a3 =1 7€ g =t T
(iii) ®T & F A Arer H1 FeriEA
(iv) STEM R Fed Bl T o1 FuRw
(v) T 1 SEIHTA hid gC a1 F9m o
(vi) T ol STFITg A9l
< :
1) (@), (i), (v), (i), (vi), (v) @) (@), (i), (v), (iv), (i), (vi)
(B) (V) (vi), (iii), (ii), (i), (iv) (4) (i), (v), (@), (vi), (i), (iv)
TR wrfswa & faw & Ae o faed ?q 3o SH et 791 FeHl ol d¢d %A § aredd &
() | wNEER & U FEEnS =9I |
(i) IR HRIHT TIR HA |
(iii) adaT gffefa 1 TR TR FT |
(iv) AR 1 SE YSH HLAT|
(v) FTE Aarsti sl A T
< :
(1) (i), (i), (i), (iv), (v) (2) (), (@), (i), (iv), (v)
(iii), (i), (ii), (v), (iv) (4) (i), (@), (v), (i), (iv)

N
N
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60. Arrange the steps in preparing and delivering a public speech :
(i) Organise your speech.
(i) Rehearese and deliver your speech
(iii) Select your topic and purpose
(iv) Analyse your audience
(v)  Research your speech topic

code :
(1) (i), (v), @), (i), @) () (v), (v), (i), @), (i)
(@) (i), (v), (v), (i), (i) (4) (i), (@), (v), (v), 6)
61. Match the Body Weight in List I with Nutritional Status in List II
List - I List - II
(a) More than 20% above IBW (i) Underweight
(b) 10-20% above IBW (ii) Severely underweight
() 10% above to 10% below IBW (iii) Obese
(d) 10-20% below IBW (iv) Normal weight
(v) Over Weight
code :
@@ () (o (d)
M) (W) @ v 0
@ ) ) @)
@) (i) (v ) ()
@) ) ) @) ()
62. Match the terms given in List I with the food products given in List II :
List - I List - II
(a) Shortening (i) Poha
(b) Emulsification (i) Custard
(c) Fermentation (iii) Toasted bread
(d) Dextrinisation (iv) Jalebi
(e) Gelatinization (v) Mathari
(vi) Mayonnaise
code
@@ () (o (@) (o)
O ) &) (v G )
@ ) @ ) @
@) &) () @) @) @v)
@ ) @ 0 @ o
v RN 2 —




60. HESTeh YU TIR i R 7 & T 381w STH ot 797 hedi &) sgefeerd =i

)

STOAT T YA Eqd HEAl

TS0 1 YT SR HT907 ST
foma =1 9 siR 3Tw

3T SArarsti =1 fageroor &

3TYA 9T Heet foaee WSy we

(iif), (v), (), (i), (iv) 2) (@), (v), (i), (@), (i)

(iif), (iv), (v), (@), (ii) 4) (i), (i), (), (v), ()

61. Ge-1¥ fou sfiRe as= &l geit-11 7 fou 9o wR) 9 e

el - 1 Tt - 11

(a) oMEdlE=Y, | 20% § Afus O RICEE
(b) SE.EEY. ¥ 10-20% AT4H (i) TR A I
() °MR.stgsy, | 10% s R 10% H9 TS GEIRNEICID!
(d) ST, ¥ 10-20% HH (iv) 9 FSE
(v) Hrer
< :
@@ () () (d)
D @) Gv) (v) @)
(2) (i) (v)  @v) ()
@) () @Gv) (v) (i)
(4) () (v) (v) (i)
62. Ge-1¥ fou TU 9= 1 GE-11 ¥ T TC @ Skl § gafad 1<
Tt - 1 T - 11
(a) WM (=) i) dw@
(b) TCHTEHRTE (i) w2
() THR® (i) =T AT
(d) SFEAESIA (iv) STt
) Toifemssed (v) W
(vi) HIAS (diet T
e :
@@ () (@ (d (o)
M (v) (vi) (v) (i) (i)
2 (v) G) @v) @@ (i)
®3) (Vl) (i) (i) (D) (iv)
(4) @ @) ()
s IH||||\|\H\||\II“IHIHII\IIHII\IHH! 2
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63. Match the organisms given in List I with disorders given in List II :

64.

paass ]

List - I
(a) Salmonella (i)
(b)  Shigella (ii)
(c) Taenia Solium (iii)
(d) Protozoa (iv)
(e)  Helicobacter Pylori ()

(vi)

code :

@@ (b) (o) (d) ()
M @) (vi) @ (@) (i)
(2) @) (v) (vi) @ (v)
G O @ 3§ GG ©)
4 G (@) @ @) ©)

Match the items in List I with List II :

List - II

Cyst in the brain
Amoebic dysentery
Enteric fever
Peptic ulcer
Hepatitis
Dysentery

List - I List - II
(a) FIFO (i) Service
(b) NOC (ii) Food safety
(c) MUF (iii) Personnel
(d) QWL (iv) Production
(e) CCP (v) Store
(£ Ssor (vi) Accounting
(vii) Purchase
code
@@ (b) () (d) (e) (f)
O O @) @) @ M) W
@ @) @) @) v @O (i)
@) @) G ) @ v
@ » O @) (@) @ )
JAHRCTA 5
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63. Get-1¥ fou Samsti 9 geit-11 7 5T 379 31 9t farl § gafad =<

(a)
(b)
()
d)

(
(e)

T - 1
BSIGEIR I
ST

efren wiferam
EIEISIE]]

gATR ST I

@ © «©
@) o) @

@) ) v
O @ @

(i @) @

(e)
(iv)
(iv)
(v)
(v)

it - 11
iy wfcss H et
rHte @ B =rer uferw

(
(
(i) THETET @R
(
(
(

[
—-
~—"

iv) Ufes® sTem

64. Ge-1¥ fou wel =01 Ge-11 H T Fanedi § gafea &3

et - 1

TA.37L.H.

TH.4.TH.

F S, Tal.

Rk IR

TH.37..

(@ () (© (@

(@) (v) (D) (i)

(i) @) @Gv) (v)

(iii) (ii (vi) (iv)
(vi) (iii)

et - 11
(@) w
(i) ST geET
(i) RITH®
(iv) ScdIRH
(v) 9eR
(vi) <@ guTett
(vii) @g
(e) (f)
(vii) (v)
() (vii)
v) ()
(i) (i)
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65. Match List I with List II :

List - I List - II
(a) ADHD (i <20/200
(b)  Stuttering (i) Hearing loss of 60 decibels or more
(c) Visual Impairment (i) Muscular dystrophy
(d) Auditory Impairment (iv) Inattentive and Impulsive
(e) Dysgraphia (v) Disruption in rhythm and fluency of speech
(vi) Writing disorder

(vii) Unclear speech

code :

@ () (o (@ (o)

®» @) v @ @ (i
@2 @) ) @ @6 i)
G) O @ 3§ G@v) O
@) G@v) (vi) @) () (V)

66. Match List I with List II :
List - I List - II
(a) Socio cultural theory (i)  Skinner
(b)  Psycho social theory (i) Freud
(c) Ecological systems theory (iii) Bronfen brennee
(d) Psycho sexual theory (iv) Bandura
(e)  Social learning theory (v)  Erikson

(vi) Vygotsky

code
@@ (b) (o) (d) (e)
D (vi) (v) @) @) (iv)
(2) (@v) @) @ @) (vi)
G (vi) (@) @) @ (i)
4) @) (v) @ @ @)
g | 2 papern




65.

66.

T - 11 Gt - 119 frad =

Tt - 1
(a) TELTEEL
(b)  BehedTl
(c) e =nferam
(d) g9 stean
(e) Tewuiman
%<

(@ () (o) (d) (e
O v ) @O @@ (vi)
2 Gv) (v) G) @ (vi)
G) @ @) @) @Gv) ()
(4) (v) (vi) @) (i) (v)
Tt - 11 gt - 119 e &

T - 1

(a) HIfEA wHeoka g
(b) HEH-HivES fagr
(c) SeIdstoRa fagr
(d) HEH-Hagerd g

(e) WREA-AHT fagr

(@ (b) () (d)
1) (vi) (v) (i) (i)
2) (v) () @) ()
3) (vi) () () ()

(

V) i)

(i)
JIHIN

/-\A/-\<AA
~— ~— ~— ~—

Tt - 11
i) < 20/200
(i) 60 SHTA a1 AT T &forer
(iii) TTEUST goT
(iv) T T S
(v) 1 i & 9 Y18 H GehTee
(vi) @ fowr
(vil) ITEqse ot
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67. Match List I with List II :

List - 1 List - II
(a) POCSO (i) 1994
(b) PCPNDT (i) 1995
(c) PWD (iii) 1986
(d) CL (Pand R) (iv) 2000
(e) JJ.(Cand P) (v) 2012
(vi) 1956

@ © © @ @

v @ G (@) (i)
(2) @) @@ @) @Gv) (vi)
G) Gv) @ @) (@) ()
@ v @ @ @) (iv)
68. Match the items given in List I with their descriptions given in List II :
List - I List - II
(a) Binders (i) added to increase the amount of water in the print
portion to enhance the transfer of dye to the fabric
(b) Wetting agents (ii) used in dyeing polyester
(c) Hygroscopic agents (iii) retards dyeing process
(d) Carriers (iv) is beneficial in dissolving dye powder

(v) are used in printing paste so that it holds the dye
particles on the fabric until its fixation

code

@@ (b) (o (d)
1 @) @ @) (V)
) (v) @) @ 3G
G) v (@) @O 3
@) @O @ @) W

69. Match the colour problems given in List I with their descriptions given in List II :

List - I List - II
(a) Metamerism (i)  unintentional variation in colour with in a piece of fabric
(b)  Frosting (i) same colour appears different under different light sources
(c) Shading (iii) A horizontal off shade band across the fabric
(d) Barre’ (iv) change of colour due to localised abrasive wear

(v) weak areas in a fabric resulting from chemical damage

code

@@ (b)) (o (d)
O v O G G
@ G ) O
@) () (@ ) )
@) O Gv) @ )
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67. -1 Gt - 1§ frae =

68.

69.

s ]

(©
d) wferg

@@ (b) () (d)
(L @) @ () (V)
) (v) (D) @ (i)
G) (v @v) @ (i)
@ @ @ @)

T - 11
i) 1994
ii) 1995
i) 1986
iv) 2000
) 2012
i) 1956

Tt - 11

() Tr= & &= 9 qHl & A6 e © E wUe W T =eH
1 Qe AT € |

(i) TeTTHeX T H WM o1 B

(iii) T ®T FiHAT B FH HCA L

(iv) T % TSe H Her | F8Ee ¥

(v) faf=a 9w & e feen S € f5e@ 31 & ol &6 e
R e I @l 7

et - 1H 31 T8 31 gaensti o1 e g - [ H U e 37 9o o &Rw |

et - 1
(a) TeHfEH (i)
(b) I (i)
() Sifen (iif)
(d) (iv)
(v)
e :
(@ () (© (@
1) (v) @ (i) (i)
(2) () @v) @@ (i)
(55) (111) (11) (‘f) (iv )
(i (iii)

Tt - 11
FUS F THS & T H Sevaied fema
T & T 1 fafve Amee ia @ fafves @
FS 1 Ak | s 1 T ugt
T % SR Teh & e W1 o %R0 T § deard
WEHF THAH & R0 FUS § FA=R T
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70. Match the finishes given in List I with their categories in List II :
List - I List - II
a) Durable press (i)  Alters durability
b) Antistatic (i) Environment protection
c) Water repellent (iii) Enhances care properties
d) Slip resistant (iv) Provides comfort
(

v) Protective finish

@@ () (o (d)

M () @ v 0
@ G @) @) 0
@) i) ) @ 0
4 @ © @ 0
71. Match the given names in List I with their area of contribution in List II :
List - I List - II
(a) Parker (i)  Ergonomics
(b) Kotler (i) Human values
(c) Drucker (iii) Management concepts
(d) Grandjean (iv) Consumerism
(v) Value scale

M) G @) @ @)
@ G @) @) 6
@) @) (v (@)
@) v @) )
72. Match the qualities of homemaker in List - I with characteristics in List - II :
List - I List - IT
(a) Physical qualities (i) Judgement
(b)  Social qualities (ii) Evaluate priorities
() Mental qualities (iii) Coordination
(d) Managerial qualities (iv) Politeness
() Economic qualities (v) Vitality
codes :
@@ (b) (9 (d) (e)
1) @) @) @O G (V)
@ @O @ @) (@) (V)
G) @ @) v @ @)
@ v (v @ (@) (i)
g | 5 papern




70. e - 14 < 78 giesnet w1 gl - 1 H < 78 Sfori | faemy

71.

72.

paai |H||H|H||

eIt - 1
(a) IS T
(b) TIfe®
) o fe=
d) fem Rfgae=

(@ (b) (9
(1) (i) (@{v) (V)
(2) () (iv) (i)
(3)  (id) (iv) (i)
@) (@) (v) (@)

@ ) (©
M () G 0
@ ) () (i)
@) (i) (v) (i)
@) ) ) G

T - Iﬁﬁqq%vﬁ%wﬁﬁvjﬁ 11 H few S fordromai & gafem Y -

~ N~~~
(@)
~

L

@ (k)
(i) @v) (@)
W) () ()
0 @

v) (@) ()
TN

c)

AAA/‘\
W N -
~— — — —

(d)
(1)

(i)
(1)
()

e

(d)
(iv)
(i)
(v)
(iv)

(=

(d)
(i)
(1)
(i)
(

iii)

i)
i

ii)

iv)

v)

(e)
(v)
(v)
(iv)
(i)

(
(
(1)
(
(

Tl - 11

STt TR 9Ta STerdl ©

TTERoT FRaT

@ @ fagmaeti i agEn 3 §
ARTT Y HIAT 7

&7 aiEsT

T A 1 Gt 11 H U T 3T ARSI o |iel A ity

T - 11
ST
HHS HH
JaEA SR
YIS
g |9
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73. Match the following types of ‘Problems of communication” in List - I with their interpretations
in List - II :
List - I List - II

(a) Technical problems (i) uncertainty or disorganisation of a system

(b) Semantic problems  (ii) problems concerned with accuracy of the transference of
information

(c) Influential problems (iii) interpretation of meaning by the receiver as compared to
the intended meaning of the sender

(d) Entropy (iv) success with which the meaning conveyed to the receiver
leads to the desired conduct

(v)  problems concerned with delivering public speeches

@ ® © (@

(1) @) G (v) (@)

(2) @) (D) @v) ()

(3) (@) (v) (i) (D)

@ © @ G

74. Match the functions of communication in List I with their intended results in List II :
List - I List - II

(a) To play (i) guidance

(b) To help (i) skill building

() To learn (i) Agreement

(d) To relate (iv) Judgement
(v) gratification

@ ® © @

(1) (@v) (D) () (V)
(2)  @v) (i) (v) (i)
) v @ @) (i)

4 Gv) () @) (@)

75. Match the elements of communication process in List I with their important characteristics

in List II :

List - I List - II
(@) Communicator (i) Needs
(b) Message (i) Availability
() Channel (iii) Relative advantage
(d) Receiver (iv) Credibility

(v)  Fidelity

code

@@ (b) () (d)

(1) Gv) @@ @ (i)
(2) (v) (D) @) (1)
(3 (v) @ () (i)
@ @) ) @O @
-o0o-
el .



73. gl -1 U 'Har &1 gwensii’ % frefafed g/l @ =it - 1 H I 379 Treieno § gafed

Tt - 1 Tt - 11
(a) TehHieRl HHETT () Tl gomelt o sifafeaaa stuan sterawen
(b)  3FeiTd FHETT (i) I h T H TAd HoEhl AT
(c) UG HHETT (iii) TR Fa o1ef Bt qAT | UTdehdl g1 31 1 SRR
(d) STerErs (TR (iv) OTeRdl i 37¢f A Hel e FohRetdl o TROTHEEY Jifsd ST
(v) WTESITR 90 o § HHEEd qHEm

@ () (© (@
N () @) () (@v)
2) () () (v) ()
3) (i) (iv) (i)

1)

(1)
(v) (i) (i) (iv)
74. el -1 ¥ U G9R o ®E & G - 11 ST 376 F7ora aiomdi 9 gofaa wif :
T - 1 Tl - 11
(a) Ta (i) HNEEH
(b) TS HE (i) e fmto
(c) drE (i) SAqIY
(d) EaY adM (iv) Toi
(v) aRdrem
< :
@@ (b) (9 (d)
(1) (v) (i) () (v)
() (v) (D) (v) (i)
G) (v @ @) (i)
(4) (v) (@) @) ()
75. Gt - [ ¥ U §9R 9fshan o fael &l geit - 1§ T 37! Aewerqul foemarstl & gafaa &I
T -1 gfa - 11
(a) HIH (i)  SATTIHAT
(b) HW (i) ST
(c) wrEgH (iii) ETIE A
(d) TeIeRdl (iv) forvaEraa
(v) SHFERI
e :
(@ (b (9 (d)
(1) (v) () (@) (i)
(2)  (v) (i) () ()
®) @v) (1) @) (i)
4) @) (v) (@ (i)

vns [QITHAUR R 5
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